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WEEK 2 TASKS

(Higher 4-6)

Make sure you check your answers and show all your
working out. Try to make your work is well laid out and easy
to read — if the examiner cannot understand what you have

written they cannot award you any marks.

Have we said, “Show your working out”?



WEEK 2 TASK 1

Estimated completion time = 25 minutes.




Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 There are only blue cubes, red cubes and yellow cubes in a box.

The table shows the probability of taking at random a blue cube from the box.

Colour blue red yellow

Probability 0.2

The number of red cubes in the box is the same as the number of yellow cubes in the box.

(a) Complete the table.

2)

There are 12 blue cubes in the box.

(b) Work out the total number of cubes in the box.

(Total for Question 1 is 4 marks)




2 Deon needs 50 g of sugar to make 15 biscuits.

She also needs
three times as much flour as sugar
two times as much butter as sugar

Deon is going to make 60 biscuits.

(a) Work out the amount of flour she needs.

....................................................... g
3
Deon has to buy all the butter she needs to make 60 biscuits.
She buys the butter in 250 g packs.
(b) How many packs of butter does Deon need to buy?
(2)

(Total for Question 2 is 5 marks)




3 Find the highest common factor (HCF) of 72 and 90

(Total for Question 3 is 2 marks)




4 The diagram shows the plan, front elevation and side elevation of a solid shape, drawn

on a centimetre grid.

Pl Fi

B
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evatic
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Side elevation

In the space below, draw a sketch of the solid shape.
Give the dimensions of the solid on your sketch.

(Total for Question 4 is 2 marks)




A 4

Shape A can be transformed to shape B by a reflection in the x-axis followed by a

translation {2}

Find the value of ¢ and the value of d.

(Total for Question 5 is 3 marks)




6 A shop sells packs of black pens, packs of red pens and packs of green pens.

There are
2 pens in each pack of black pens
5 pens in each pack of red pens
6 pens in each pack of green pens

On Monday,
number of packs ~ number of packs number of packs =7:3:4
of black penssold °~  ofredpenssold °  of green pens sold

A total of 212 pens were sold.

Work out the number of green pens sold.

(Total for Question 6 is 4 marks)




7 Here are two rectangles.

OR=10cm
BC=PQ

The perimeter of ABCD is 26 cm
The area of PORS is 45 cm?

Find the length of 4B.

(Total for Question 7 is 4 marks)

TOTAL FOR PAPER IS 24 MARKS



WEEK 2 TASK 2

Estimated completion time =45 minutes.




Answer all questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

1 The table shows the number of books read by four people in one month.

Person Number of books
Ximena 7

Martha 9

Kezia 1

Tabby 5

(a) Work out the median number of books.

(2)
(b) Find the range.

(1)
(¢) On the grid, draw a bar chart to show the information in the table.

3)

(Total for Question 1 is 6 marks)



*2

*3

Jenna is asked to show the inequality —3 < x < 4 on a number line.

Here is her answer.

O 'S,
N N N IR E SR N NN R R
5 -4 3 =2 -1 0 1 2 3 4 5

(b) Work out the greatest integer that satisfies the inequality
S5y-7<16

(Total for Question 2 is 4 marks)

Lava flows from a volcano at a constant rate of 11.9 m?/s

How many days does it take for 67 205 600 m? of lava to flow from the volcano?
Give your answer correct to the nearest day.

(Total for Question 3 is 3 marks)



4

Jenny invests £3000 for 6 years at y% simple interest per year.

At the end of the 6 years, Jenny has received a total of £450 in interest.

Work out the value of y.

(Total for Question 4 is 3 marks)

120 boxes cost £6
270 bags cost £10

A bag is cheaper than a box.

How much cheaper?
Give your answer in pence correct to 1 decimal place.

(Total for Question 5 is 4 marks)



*6

Seija works at a weather station.

The table gives information about the temperature, 7 °C, at midday for each of 50 cities

in the UK on Tuesday.
Temperature (7 °C) | Frequency
10<T<15 2
15<T <20 8
20<T <25 13
25<T <30 21
30<T7T <35 6

(a) Calculate an estimate for the mean temperature.

Seija says,

“The median temperature is 22.5 °C because 22.5 is the middle number in the

middle group.”

(b) Is Seija correct?
Give a reason for your answer.

(Total for Question 6 is 4 marks)



7 The front elevation of a cuboid is shown on the centimetre grid below.

The volume of the cuboid is 224 ¢m?

On the grid, draw the plan of the cuboid.

(Total for Question 7 is 3 marks)




*8

The diagram shows a solid cube placed on a horizontal table.

force
pressure =

area

\
P e

The pressure on the table due to the cube is 3.5 newtons/cm?
The force exerted by the cube on the table is 504 newtons.

Show that the total surface area of the cube is less than 900 cm?

(Total for Question 8 is 3 marks)




I
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Describe fully the single transformation that maps shape A onto shape B.

(Total for Question 9 is 2 marks)



*10 A and B are numbers such that

A=22x3"x7
B=3*x7?

(a) Find the highest common factor (HCF) of 4 and B.

(b) Find the lowest common multiple (LCM) of 4 and B.

(Total for Question 10 is 3 marks)

*11 It takes 14 hours for 5 identical pumps to fill a water tank.

How many hours would it take 4 of these pumps to fill another water tank of the
same size?

(Total for Question 11 is 2 marks)



*12 The line L is shown on the grid.

Find an equation for L.

(Total for Question 12 is 3 marks)

*13 Here is the graph of y = x* — 2x — 2

(Total for Question 13 is 1 mark)



14 A, B, C and D are points on a circle such that ABCD is a square.

D C

The square ABCD has sides of length 3.5 cm.

Calculate the circumference of the circle.
Give your answer correct to 1 decimal place.
Y ou must show all your working.

(Total for Question 14 is 4 marks)

TOTAL FOR PAPER IS 45 MARKS



WEEK 2 TASK 3

Estimated completion time = 25 minutes.




Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 (a) Solve 14n>11n+6

(b) On the number line below, show the set of values of x for which -2 <x + 3 < 4

3)
(Total for Question 1 is 5 marks)




2 On the grid below, draw the graph of y = 2x — 3 for values of x from -2 to 4

=V

(Total for Question 2 is 3 marks)




3 Hannah is planning a day trip for 195 students.

She asks a sample of 30 students where they want to go.
Each student chooses one place.

The table shows information about her results.

Place Number of students
Theme Park 10
Theatre 5
Sports Centre 8
Seaside 7

(1) Work out how many of the 195 students you think will want to go to the Theme Park.

(Total for Question 3 is 3 marks)




4 A container is in the shape of a cuboid.

19 cm

6 cm

30 cm

The container is % full of water.

A cup holds 275 m/ of water.

What is the greatest number of cups that can be completely filled with water from the container?

(Total for Question 4 is 4 marks)




5 ABC is aright-angled triangle.

16 cm

g U

Calculate the length of AB.
Give your answer correct to 2 decimal places.

(Total for Question 5 is 2 marks)

6 Sally used her calculator to work out the value of a number y.

The answer on her calculator display began
8.3

Complete the error interval for y.

(Total for Question 6 is 2 marks)




7  £360 is shared between Abby, Ben, Chloe and Denesh.

The ratio of the amount Abby gets to the amount Ben getsis 2 : 7
Chloe and Denesh each get 1.5 times the amount Abby gets.

Work out the amount of money that Ben gets.

(Total for Question 7 is 4 marks)

27/8 (a) Write 0.00562 in standard form.

(b) Write 1.452 x 10 as an ordinary number.

(Total for Question 8 is 2 marks)

TOTAL FOR PAPER IS 25 MARKS



WEEK 2 TASK 4

Estimated completion time = 30 minutes.




*1

*2

Answer all questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

(a) Write down the value of 5°

5 4

(b) Write

> in the form 2" where 7 is an integer.

(2)
(Total for Question 1 is 3 marks)

(a) Write 156 as a product of its prime factors.

2)
(Total for Question 2 is 4 marks)

The menu in a restaurant has starters, main courses and desserts.

There are 5 starters.
There are 12 main courses.
There are x desserts.

There are 420 different ways to choose one starter, one main course and one dessert.

Work out the value of x.

(Total for Question 3 is 2 marks)



*4

The scatter graph shows information about the ages and weights of some babies.

A
12
X
X
%
10 % X
% X
X X
X

8 X a

X

X X
X
Weight 6 X X
(kg)
>
X
% X
4 X
x
%
2
0 >
0 2 - 6 8 10 12
Age (months)

(a) Describe the relationship between the age and the weight of the babies.

(1)
Another baby has a weight of 5.8 kg
(b) Using the scatter graph, find an estimate for the age of this baby.
...................................................... months
2

(Total for Question 4 is 3 marks)



*5  Work out 72—2l
8 2

Give your answer as a mixed number.

(Total for Question 5 is 3 marks)

*6 Workout 63x24

(Total for Question 6 is 3 marks)



7 Alice recorded the number of cars going into a village on each of 80 days.
The incomplete table and the incomplete box plot give information about her results.

Number of cars

Least number 300

Lower quartile

Median 900
Upper quartile
Range 1000
200 400 600 800 1000 1200 1400

Number of cars

(i) Use the information in the table to complete the box plot.
(i) Use the information in the box plot to complete the table.

(Total for Question 7 is 3 marks)



8 To cook rice
the number of cups of rice (x) : the number of cups of water (y)=4:5

Use this information to draw a graph to show the relationship between the number of cups of
rice and the number of cups of water needed to cook rice.

YA
10

Number of
cups of water 5

4
3
2
1
0O 1 2 3 - 5 6 7 g8 9 10 =\

Number of cups of nice

(Total for Question 8 is 2 marks)

*9  Work out 8.46 - 0.15

(Total for Question 9 is 3 marks)



*10 £=1{1,2,3,4,5,6,7,8,9, 10}
A = {odd numbers}
B = {square numbers}

Complete the Venn diagram for this information.

-
A ><

N
%

((Total for Question 10 is 3 marks)

*11 The price of a holiday increases by 20%

Work out the price of the holiday before the increase.

This 20% increase adds £240 to the price of the holiday.

(Total for Question 11 is 2 marks)

TOTAL FOR PAPER IS 31 MARKS



WEEK 2 TASK 5

Estimated completion time = 25 minutes.




Answer ALL questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

=11,2,3,4,5,6,7,8,9)
(1,5,6,8,9)
12,6,9

SV I
Il

)

(a) Complete the Venn diagram to represent this information.

A number is chosen at random from the universal set .

(b) Find the probability that the number isintheset4 § B

3)

(Total for Question 1 is 5 marks)




2 Katy invests £200 000 in a savings account for 4 years.
The account pays compound interest at a rate of 1.5 % per annum.

Calculate the total amount of interest Katy will get at the end of 4 years.

(Total for Question 2 is 3 marks)




3

The table shows information about the heights of 80 plants.

Height (h cm) Frequency
10<h <20 7
20<h <30 13
30<h <40 14
40 <h < 50 12
50<h <60 16
60<h <70 18

(a) Find the class interval that contains the median.

0y
(b) On the grid, draw a frequency polygon for the information in the table.
r N
20
15
Frequency
10
5
0 i
0 10 20 30 40 50 60 70
Height (h cm)
2

(Total for Question 3 is 3 marks)




4

Sean has drawn a time series graph to show the numbers, in thousands, of visitors to a
fun park.

A
10
9
8.5
Number
of visitors 8
(thousands)
7.5
7
6.5
6 =
2 3 4 2 3 4 2 3 4
2016 2017 2018
Year

Write down two things that are wrong or could be misleading with this graph.

(Total for Question 4 is 2 marks)




5 The diagram shows a hexagon.
The hexagon has one line of symmetry.

B
117°

FA=BC
EF=CD
Angle ABC=117°

Angle BCD =2 x angle CDE

Work out the size of angle AFE.
You must show all your working.

(Total for Question 5 is 4 marks)




: : <« 1l.6m—>»
Jeremy has to cover 3 tanks completely with paint. /—k A

N

Each tank is in the shape of a cylinder with a top and a bottom.
The tank has a diameter of 1.6 m and a height of 1.8 m.

Jeremy has 7 tins of paint. 1

. ; 8m
Each tin of paint covers 5 m?

Has Jeremy got enough paint to cover completely the 3 tanks?
You must show how you get your answer.

(Total for Question 6 is 5 marks)

TOTAL FOR PAPER IS 22 MARKS



MARKSCHEMES

(Higher 4-6)



WEEK 2 TASK 1




Question 1 (Total 4 marks)

Part | Working an or answer examiner might | Mark | Notes
expect to see
(a |1-02=0.8 P1 This mark is given for a method to solve
the inequality
04,04 Al This is mark is given for two correct
answers (equivalent fractions acceptable)
(b) |12+0.2 P1 This mark is given for a process to find
the number of blue cubes in the box
60 Al This mark is given for the correct answer
only
Question 2 (Total 5 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
(a) | For 15 biscuits: P1 This mark is given for a process to find the
Flour needed = 3 x 50 g = 150 g amount of flour needed for 15 biscuits
For 60 biscuits: P1 This mark is given for a process to find the
60 amount of flour needed for 60 biscuits
— x 150
15
600 Al | This mark is given for the correct answer
only
(b) | For 15 biscuits: P1 This mark is given for a process to find the
Butter needed =2 x 50 g = 100 g amount of butter needed for 60 biscuits
For 60 biscuits:
60 x 100 =400
15
400 Al This mark is given for the correct answer

—— = 1.6, so 2 packets needed
250

only




Question 3 (Total 2 marks)

Part | Working or answer an examiner might | Mark | Notes
expect to see
Prime factors of 72 are 2, 2, 2,3, 3 Ml This mark is given for a method to find
Prime factors of 90 are 2, 3, 3, 5 the prime factors of both 72 and 90
HCF=2x3x3 Al This mark is given for the correct answer
~ 18 only
Question 4 (Total 2 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
M1 | This mark is given for sketch of a
Y cylinder
D T
Scm
P1 This mark is given for sketch of a
cylinder with dimensions shown
N
+“—4cm—>
Question 5 (Total 3 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
) M1 | This mark is given for a correct reflection
; of A shown on the diagram
8 7 6 5 4 3 2 10 1 2 3 4 5 6 71 8§ *x
c=-6 Al This mark is given for a correct value for
d=—1 either c or d
Al | This mark is given for a correct value for

both ¢ and d




Question 6 (Total 4 marks)

Part | Working or answer an examiner might | Mark | Notes
expect to see
2x7:5%x3:6x4 P1 This mark is given for a process to find
14:15: 24 the ratio of the number of pens of each
colour sold
212+ (14 + 15+ 24) P1 | This mark is given for a process to find
the proportion of green pens sold
212 P1 This mark is given for a process to find
— x24
53 the number of green pens sold
96 Al This mark is given for the correct answer
only
Question 7 (Total 4 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
PO=45+10=4.5 P1 This mark is given for a process to use
BC=45 the area of PORS to find the lengths of
' PQ and BC
26— (2 x4.5) P1 This mark is given for a process to use
the perimeter of ABCD to find the length
AB
AB=17+2 P1 This mark is given for a process to to find
the length 4B
8.5 Al | This mark is given for the correct answer

only




WEEK 2 TASK 2




Answer all questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

The table shows the number of books read by four people in one month.

Person Number of books
Ximena 7

Martha 9

Kezia 1

Tabby 5

(a) Work out the median number of books.

Vs oo 6. Lmark
T @)

(b) Find the range.

a-vr §...Lmak

(¢) On the grid, draw a bar chart to show the information in the table.

q -
84

1 mark for fully
7 4 correct bar chart
b -

Or 1 mark for
S - correct scale or
name labels

Or 1 mark for at
least two correct

24 bars

Ximeao Mﬂ, Kwa. Tab )

(Total for Question 1 is 6 marks)




*2  Jenna is asked to show the inequality —3 <x < 4 on a number line.

- —®

O O

Here is her answer.

| | | | | | | |
-5 4 3 2 -1 0 1 2 3 4 5

(a) Write down two mistakes Jenna has made.

(b) Work out the greatest integer that satisfies the inequality
S5p-7<16

5(3-:1 TS

£3 3
L Final mark

{23
-t

1 mark (j L b Q)

(Total for Question 2 is 4 marks)

1 mark

*3  Lava flows from a volcano at a constant rate of 11.9 m3/s

How many days does it take for 67 205 600 m? of lava to flow from the volcano?
Give your answer correct to the nearest day.

67 Q65660 T L1-9A 1mark

T S6LuFS29.412 seconde
1 mark T 86LCO = £65-3L4L4GA.. .

clagys

laad s BOxtOxAle &S ... final mark 4,
= g EL(-CX} SCCDUS (Total for Question 3 is 3 marks)



4 Jenny invests £3000 for 6 years at y% simple interest per year.

At the end of the 6 years, Jenny has received a total of £450 in interest.

Work out the value of y.

1 mark Lpé(){-é = S PQJJQOJ

:15 x IO = Qs
3CC0

1 mark

2-S  Final mark
Y T eettee st e e s e s s s
(Total for Question 4 is 3 marks)
5 120 boxes cost £6
270 bags cost £10
A bag is cheaper than a box.
How much cheaper?
Give your answer in pence correct to 1 decimal place.
120 boxes = 600 Q?Oboag < ICCOp
120 +3106
| box = Sp lbaa . 37033 p
1 mark 1 mark

< S "5:,037 . 1 mark
= 1.4G6.. .
S'e) £~3>p

Final mark

..................... "‘Z)p

(Total for Question 5 is 4 marks)
Range accepted 1.29 to 1.3



*6

Seija works at a weather station.

The table gives information about the temperature, 7 °C, at midday for each of 50 cities
in the UK on Tuesday.

Temperature (7 °C) | Frequency

t2-S
10<T<15 X 2 £ oS
3°S
15<T <20 x 8 = 10
05T%25 ¢ 13 4 L3S Lmark
IS
25<T <30 g 21 4 SAF-S
Ly ‘_5
30% <35 « 6 3148
SO
(a) Calculate an estimate for the mean temperature.
2S + 140 ¢ 675 + SA7°S 1198 1 mark
SO
= 130
SO
Final mark
TR L °C
3)

Seija says,

“The median temperature is 22.5 °C because 22.5 is the middle number in the
middle group.”

(b) Is Seija correct?
Give a reason for your answer.

(Total for Question 6 is 4 marks)



7

The front elevation of a cuboid is shown on the centimetre grid below.

Final

mar

k for

corr

ect

diagr

1 mark fq
length of

Or side
7 0or' 8

The volume of the cuboid is 224 cm?

On the grid, draw the plan of the cuboid.

~— =
j4x8=3§2

23

3&%30'-52&4

o = LUt
33

-

fully
am

(Total for Question 7 is 3 marks)




*8

The diagram shows a solid cube placed on a horizontal table.

force

pressure =
area

.
P ————————f -

The pressure on the table due to the cube is 3.5 newtons/cm?
The force exerted by the cube on the table is 504 newtons.

Show that the total surface area of the cube is less than 900 cm?
3' 6 - ,_/bfsz 1 mark
areo.

areo = DO
3-S

= I[{.L;cmz a Ltoce

Tal suwrfoce arece
= [L[_L‘_ X £> 1 mark

2
= 86 . cm Final mark

86l < 00

(Total for Question 8 is 3 marks)




|
N
|
FEN
&b
|
(S
|
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Q
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W
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h
(=)
~J
-’

........................... LK e T e

(Total for Question 9 is 2 marks)



*10 A and B are numbers such that

A=22x3%x7
B=3?>x7?

(a) Find the highest common factor (HCF) of 4 and B.

A = dx Lx[3B\w3x3 HCE = Zx3x?
g . 3 MEY R

(b) Find the lowest common multiple (LCM) of 4 and B.

LCM : b3 x dx@x dxd xq  1mark
= 19816

(2)
(Total for Question 10 is 3 marks)

*11 It takes 14 hours for 5 identical pumps to fill a water tank.

How many hours would it take 4 of these pumps to fill another water tank of the

| /e
[y hows = © pum propetion
1 mark xS PSJ vq
0 howus lpm p
N é X Le
13- Sholws LEPUme Final mark
..... l’l‘é hours

(Total for Question 11 is 2 marks)



*12 The line L is shown on the grid. VA

Find an equation for L.

n

I\ —
Orm = =k -8 1mark — ‘V
V) mt:e/cepé -4
1

(.,j:-&zc—t—?) 2 -1 0 1\2 3

1 mark -1

(Total for Question 12 is 3 marks)

*13  Here is the graph of y = x> — 2x — 2

)
&
2 3 4 x
-1
-2
-3
-4
Write down an estimate for one of the roots of x> — 2x —2 =0
1 mark
-01 or L7

(Total for Question 13 is 1 mark)
Range accepted -0.6 to -0.8 and 2.6 to 2.8



14 A, B, C and D are points on a circle such that ABCD is a square.

The square ABCD has sides of length 3.5 cm.

Calculate the circumference of the circle.
Give your answer correct to 1 decimal place.
You must show all your working.

dameter et = 3.8 ¢ 357 Lmark

"

= 245
o = J 245
1 mark
S VAL & S
Ceram ference . o 4QuST ... 1mark

15-S90...

Final mark tS-6

(Total for Question 14 is 4 marks)
Range accepted 15 to 16

TOTAL FOR PAPER IS 45 MARKS



WEEK 2 TASK 3




Question 1 (Total 5 marks)

Part | Working an or answer examiner might | Mark | Notes
expect to see
(@) |l4n—-11n>6 M1 | This mark is given for a method to solve
31> 6 the inequality
n>2 Al This mark is given for the correct answer
only
®) ® °
| | | | | | | | | | | | | >
-6 -5 -4 3 =2 -1 0 1 2 3 4 5 6 X
M1 | This mark is given for drawing a line
from —5 to 1
M1 | This mark is given for an open circle
drawn at —5 or a closed circle drawn at 1
Al This mark is given for a completely
correct diagram
Question 2 (Total 3 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
't B3 | These marks are given for a correct

straight line between the points (-2, —7)
and (4, 5)

(B2 is given for a straight line segment
through at least three of the points

(_25 _7)5 (_15 5)7 (07 _3)’ (17 _1) (25 1)7
(3,3)and (4, 5))

(B1 is give for at least two correct points
stated or plotted or for a line drawn with
gradient 2)




Question 3 (Total 3 marks)

Part | Working or answer an examiner might | Mark | Notes
expect to see
(1) 10 195 M1 | This mark is given for a method to find
30 % an estimate of how many students will
want to go to the Theme Park
65 Al | This mark is given for the correct answer
only
(i) | The sample is representative of all 195 Cl This mark is given for a correct statement
students; otherwise the estimate might be
wrong
Question 4 (Total 4 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
30 x 6 x 19 =3420 P1 This mark is given for a process to find
the volume of the container
2 B P1 This mark is given for a process to find
3 x 3420 =2280 the volume of water in the container
2280 +275=28.29... P1 This mark is given for a process to find
out how many cups can be filled
8 cups Al This mark is given for the correct answer
only
Question 5 (Total 2 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
AB =5sin 38° x 16 M1 | This mark is given for a method to find
the length of 4B
AB=0.61566 x 16 ©Ienemo
9.85 Al | This mark is given for the correct answer

only




Question 6 (Total 2 marks)

Part | Working or answer an examiner might | Mark | Notes
expect to see
83<y<84 B1 | This mark is given for either 8.3 or 8.4
seen in the correct position
Bl This mark is given for the correct answer
only
Question 7 (Total 4 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
Chloe and Denesh each receive 1.5 x 2 P1 This mark is given for a process to find
out the proportion that Chloe and Denesh
each share
A:B:C:D=2:7:3:3 P1 This mark is given for a process to find
the ratio of money that each person shares
7 < 360 = 7 « 360 P1 This mark is given for a process to find
2+7+3+3 15 the amount of money that Ben gets
168 Al This mark is given for the correct answer
only
Question 8 (Total 2 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
5.62 x 1073 Bl This mark is given for the correct answer
only
1452 Bl This mark is given for the correct answer

only




WEEK 2 TASK 4




Answer all questions.
Write your answers in the spaces provided.
You must write down all the stages in your working.

*1  (a) Write down the value of 5°

(1)
5 4
(b) Write in the form 2" where 7 is an integer.
(23 .
- Final mark
1 mark 9s*% 99 2° 3 VAL amare
PE 2% )

(Total for Question 1 is 3 marks)

*2  (a) Write 156 as a product of its prime factors.

1Sk 1 mark for complete method to find prime
factors with no more than one error
/N
2 8 OR for sight of 2,2,3,13 ;
7 N\ or sight of 2,2,3, R xQx3 %A Final mark
2 3q ............................................................................................................
/ N\
3 (% (2

(b) Find the highest common factor (HCF) of 156 and 130

|
X he(d 289 24, Finel mark

! N\
12" o t20
1 mark (2

(3}

(AY

/ \
2 S HCOF © 2« 13

(Total for Question 2 is 4 marks)

3 The menu in a restaurant has starters, main courses and desserts.

There are 5 starters.
There are 12 main courses.
There are x desserts.

There are 420 different ways to choose one starter, one main course and one dessert.

Work out the value of x. 1 mark
Sxl2 xaxx = 420 L 1 Final mark
X = L[;_Z’,O (Total for Question 3 is 2 marks)

O



*4 The scatter graph shows information about the ages and weights of some babies.

A

12

1 mark for a
suitable line of

best fit

o

0 2 4 6 8 10 12
Age (months)

(a) Describe the relationship between the age and the weight of the babies.

a0 posdive. comelobn,.

1 mark

1)
Another baby has a weight of 5.8 kg
(b) Using the scatter graph, find an estimate for the age of this baby.
Final mark /_[_, months
Range accepted 2.5 to 4.5 )

(Total for Question 4 is 3 marks)



*5  Work out 73—2l

Give your answer as a mixed number.

q% - ‘S'E' ﬁ -_é, 1 mark
L5 ¥
‘- B - 23 -0 1 mark
8 8 mar
= 24
v )
300 26,82 e [y & Final mark

(Total for Question 5 is 3 marks)

*6 Workout 63x24

1 mark
60 3 | 200
1T 2L 0O
20 [12co 60 %%
L[_ Q40 1L ‘\, S \ 2 1 mark for digits 1512
| )

8 by x &L = 1512

(Total for Question 6 is 3 marks)



7 Alice recorded the number of cars going into a village on each of 80 days.
The incomplete table and the incomplete box plot give information about her results.

3 marks for 780, 1200, median
plotted and both whiskers drawn

2 marks for two of the above

1 mark for any one of the above

Number of cars

Least number 300
Lower quartile 3 w
Median 900
Upper quartile 19 50)
Range 1000

81‘662)6@8(; )

v’

v/

300 + 10CO

v’

__.‘

200

600

1000

Number of cars

(1) Use the information in the table to complete the box plot.

(i1) Use the information in the box plot to complete the table.

1200 1400

(Total for Question 7 is 3 marks)



8 To cook rice
the number of cups of rice (x) : the number of cups of water (y)=4:5

Use this information to draw a graph to show the relationship between the number of cups of
rice and the number of cups of water needed to cook rice.

VA
10

2 marks for correct line drawn
9

1 mark for plotting two correct g
points on the line

Number of
cups of water

ac::j
4 S5
3 10

=V

0 1 2 3 < 5 6 7 8 9 10
Number of cups of nice

(Total for Question 8 is 2 marks)

*9  Work out 8.46 ~0.15

B-ub - 8Lk
1S LS

I

84@ ENES 1 mark

IS 0O S 6.1_(_. 1 mark for digits 564
0 s | 8%676-°0
kS |

S 864 fna Ak
% (Total for Question 9 is 3 marks)

LOS



*10 &=1{1,2,3,4,5,6,7,8,9, 10} 1 mark for one correct region
A = {odd numbers} 3 S w

B = {square numbers} Lt 2 marks for two or three correct regions

Complete the Venn diagram for this information. 3 marks for all correct

&

2 63 1O

((Total for Question 10 is 3 marks)

*11 The price of a holiday increases by 20%
This 20% increase adds £240 to the price of the holiday.

Work out the price of the holiday before the increase.

7 0o % 4“20[\ 207 - £ 2.0 1 mark
£ U0
IGO0 = #1200
Special case: if no marks
awarded but an answer of 960 or Final mark
1440 glven 1 mark can be E SO [2% ............................
awarded (Total for Question 11 is 2 marks)

TOTAL FOR PAPER IS 31 MARKS



WEEK 2 TASK 5




Question 1 (Total 5 marks)

Part | Working an or answer examiner might | Mark | Notes
expect to see
(a) = M1 | This mark is given for placing numbers
4 3 6 and 9 in the intersection of 4 and B
= M1 | This mark is given for placing numbers 1,
4 3 5 and 8 in set A only
158 2 or
the number 2 in set B only
or
347 .
the numbers 3, 4 7 outside 4 U B
Cl This mark is given for a fully correct
Venn diagram
(b) | There are 2 numbers in 4 N B M1 This mark is given for one of these two
There are 9 numbers in the universal set statements seen
2 Al This mark is given for a correct answer
9 only
Question 2 (Total 3 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
200000 x 1.015 =203 000 M1 | This mark is given for a method to show
the amount that will be in the savings
account after one year
200000 x (1.015)* =212272.71 M1 | This mark is given for a method to show
the amount that will be in the savings
account after four years
212272.71 —200000 = 12272.71 Al This mark is given for a correct answer (in

the range 12272.70 to 12272.72)




Question 3 (Total 3 marks)

Part | Working or answer an examiner might | Mark | Notes
expect to see
(@) |40<h<50 Bl This mark is given for the correct answer
only
b)) | B2 | This mark is given for a correct polygon
with points plotted at midpoints
: \/ (B1 is given for one point incorrect)
Question 4 (Total 2 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
For example: B1 This mark is given for a first correct
Points should be joined by straight lines, statement
not curved lines
The first quarter not shown Bl This mark is given for a second correct
9.5 is missing from the vertical axis statement
The vertical axis does not start from zero
Question 5 (Total 4 marks)
Part | Working or answer an examiner might | Mark | Notes
expect to see
(6—-2)x180="720 M1 | This mark is given for a method to find
the sum of the interior angles of a
hexagon
Letting the angles AFE and BCD = x and M1 | This mark is given for a method to find
the angles FED and CDE = 2x, then the missing angles of the hexagon
720 - 117 - 117 = 6x
486 M1 | This mark is given for a method to find
x=— =281
6 the value of x
Thus angle CDE =2x =162 Cl1 This mark is given for the correct answer

only following from correct working




Question 6 (Total 5 marks)

Part | Working or answer an examiner might | Mark | Notes

expect to see

2 x 7x0.82=4.021 P1 This mark is given for a process to find
the area of the top and bottom of the tank

2% 0.8 x 1.8 =9.047 Pl This mark is given for a process to find
the curved surface area of the tank

4.021 +9.047... =13.069 P1 This mark is given for a process to find
the total surface area of the tank

3 x 13.068 = 39.204 P1 This mark is given for a process to find
the total surface area of three tanks

Jeremy only has enough paint to cover Cl This mark is given for a correct

35 m? so Jeremy does not enough paint to
completely cover 3 tanks

conclusion supported by correct working




